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HEMSREZHES
fF He 0.4
4 # student 0.5

B3 TT _L. XLit X2 @7 .

He is a student . Xlis a X2 .
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gbgbuogbbodobooobuoobbooobbooboobbuoobood
gbbodbboboobooobuoobbuobbuoobbooboboboo
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i She 0.5
B =R g?{ HE? 0.2
B =58
BHiEmE 4 teacher 0.5

H-h3rla: She is ateacher. 0.25

i} Hharlb: Heris ateacher. 0.1
BAREE L2 2a: The She is teacher . 0.25
H -z 2b: The Her teacher . 0.1

4 HER:# R
=z HHila: She is ateacher.
BERHA Hi-h3r 2a: The She isteacher.
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Ooogd Please move over more to the right .

0000 (00O O0O00O0oo0DOoo0obDbOOoboobo O
ooad The wound requires prompt treatment .
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BLEU NIST METEOR
gooood 0.102 4.034 0.347
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g730100000000000000000O0OY4000630000000O000
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gbooogog 0.107 4.157
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0 74 21030000

BLEU NIST
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gboooo40bodoogbuogbobugbooboobobuogbobuobbon
gogboboboogoboboooon
O001(>) 000000000 0O0OO0OO0OO0OOODO0OO0OO0OO00O

01
ooo O000000D0ODO0ODOO OO0
Oodad I proposed to her .
OO00000 1IHe asked her for her hand .
o000 I made a proposal of marriage to her .
02
ooo 0000000 O0Obobooooooao
Oo0ogd He projected the slides on the screen .
OO0O0O0O00O Helooked at herself in the screen .
oooo He projected a slide The picture on the TV screen .

002() 00000000O0O0OO0OOOOOOOOOOODOOO

01
ood 00000 Ooooao
god Work has reached the critical point .
OO0O0D000 The work is appear to have entered the final stage .
gooo work went into the labor-management .
02
ood 00000 Oooooogao
ooad The air in the kitchen is foul .
000000 The air is polluted the kitchen .
oooo The kitchen is the dirt off the air .
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gogbood

01

0oo
ooo

OO0 00000 agad
The harvest looks promising .

OO00O00O0 Hopes looks like .

gooo

It looks like rejoicing .

0 2

oogd
0oOgd

o odouooooooodoao
It is a production of his chisel .

OO0OO00O0 It will be a is engraved .

0oooo

It is engraved .
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01
000 O00O0O00O0D0O000OD0OaD
gono He is sick for home .
000000 Heis homesick .
good He is homesick .
02
ooo 00 0000 0OdoODbODoooad
oono The patient was operated on for appendicitis .
OO0D00O00O00O The patient had an operation for appendicitis .
oooo The patient had an operation for appendicitis .
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0000000 |1Igotoseea X1 .

oooo 20 X1X2X30 O X4X50
0000000 | X1 X5 X4 see X2 X3 .

02

0000100 |00 0 X110 000 d
oooooo The train goes through the X1 .
0000200 |X1X2X3X4000 O
googooo X2 X1 goes through X4 X3 .

g3
oooo0o100 (X110 X20 X30
gooooo X3 X2 on a X1 .
ooob 200 | X1 X2X3X4X5U0
gooooo X5 X3 X2 X4 X1.
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gobobo1l1goooobboooooobobooooboos2bb0obboobooOo “cogono”
gboobdgobooboobood

082 0000 1.000000

01
ood O0ooooooboooboodd
000000 | He intently at the side .
oooo His lay still .
godd He lay still .

gooobgo (X1goobooooobobbod
ooooog | X1 lay still .

02
ooo 0000000 DODoOgogoad
000000 |IHe asked her for her hand .
oooo 1 my made a proposal of marriage to her .

gooo 2 my proposed marriage to Her .

oooo I made a proposal of marriage to her .
0000001 X10O0ooooooooo oad
000000 1| X1 made a proposal of marriage to her .
0000002 |X10 X20 00 0000000
000000 2| X1 proposed marriage to X2 .

03
oood 00000 Do0oooooad
ogooood The air in the kitchen .
oooad The air of this kitchen is foul .
ogoood The air of this kitchen is foul .

ooooon X1O0O OO Oooooooo™
Ooo0Oooog The air of this X1 is foul .

gs200d1ddgoooobbobobobbtbodddooooobboboobbbooogoa
gboooooobooboobobobobobob X1 *His"O0boboboboo
goboooboobooobob“dHis"O “He” O0DO0O00OO00bO0ooo0oooooog
gboogbood
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gogbbobuooobbbooodgbobbos3bbon

083 0000 1.000000

01
oogd O000o
OO0o0oo0o0gd |Ihave a pain in my eyes .
oooo1 The eyes hurts .
goog 2 The eyes hurts .
goono 3 The eyes hurts over .
gooo [ am in my joints .
O0ooDood1l | X100 X20
000000 1| The X1 X2 .
ooooDog2 | X100 X20
OO0oood 2| The X1 X2.
oooobog 3| X100 X20
Ooooon 3| The X1 X2 over .
O 2
gogd oooooooboobobooao
000000 | The corn on the market .
gooog The productive answered the market .
goon The productive answered the market .
oooooo [ X110 X200 00
000000 | The X1 answered the X2 .
03
oogd OO0oooooano
000000 | He answered the telephone .
ooon His came out at a telephone .
ogooo He went out into the telephone .
ooooog (X110 X220 000
gooboog | X1 came out at a X2 .

g830d0ilbbo“obo 1oL *oobo2rboobooboboobon
goboboboooobbobobobooooboboobobobobooobUobo
gobooooobooboooo“cob0o3yob0oboboong “over” OO OO
gbobooboobooboobooboobooboobooboobooboon
gboobgobobobobbooboobooboon
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gobo0 “0b00oboOor’bbo0bOog “productive” OO DOOOOOODOOOODOOO
O0boooobooooboooooobDooogDD “answered” D0 0O0OODOOODOOO
ggbobobuoooobbooooobobo

g3ggbbbuooogobbbuooooobbbuoooonobbouooaoobon
gogbbobuogoobbobuoooobbbdooobobboooobbbboooobon
gogbbobuogoobbobuoooobbbdooobobboooobbbboooobon
oo“gb0’doo0obooonbooobboobog “cameouwt” 0000 O0OOOOODOO
20000bboooobobboooboboboooon
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ood 000 0000 o0ogao
OO0O0000 | The wine grapes .
gogdd Wine is made in grapes .
gooo Wine is made from grapes .
000000 (X110 X2X300 O
goooog | X1is made X3 X2 .
0 2
ood O000oooooooao
000000 |TIasked him to his dissatisfaction with .
oooo1 He has His in dissatisfied .
oooo2 in His is sitting on her dissatisfied .
oooo He has dissatisfied with him .
0000001 |X1X2X30 OO0 0O 00 O
O00D000 1| He has X1 X2 X3 .
O000002|X1X2X30 00O X400 O
000000 2| X2 X1 X4 sitting on her X3 .
O3
ood 00 000D OoO0oooooao
000000 | This sweater does not agree with .
ooood 1 The sweater do not match with in body .
gooo 2 This sweater does not match in The body .
gooad The sweater do not match with the body .
0000001 |00 X1X2X3X400 X650
000000 1| X2 X1 do X5 match with X4 X3 .
000000 2| X1 X2X3X4X500 X60O
000000 2| X1 X2 does X6 match X5 X3 X4 .

gs4ddloggoooobooobobbtbododooooobbobbboooga
0000000000 DbO0DO0 0000000 ODOODOOOO0OO “rom” 00
gobooboobooboobooboobooboobooboobooboon
gboobooobgd
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gugbbbuooobbobuoooobbbduoobobbboooobobbbouooobbn
ggbbbuggobbouooobobboooobbbuoooobbbuooobbn

O300000000000D00D00O0O0 “agree” D000O0O0OOOOOOODOODO
gooboooobooooooooooboobobobobosbobo1rrooog <>
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085 0000 2000000
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ooo O0000OD0ODDODO0O0OO0OOoaO
000000 | My mother has been submerged in grief .

gooo1 My Sorrow The Mother are in in sank .

oooo 2 Mother sank in Sorrow city .

oooo3 in are Sorrow sank up The the Mother .

good4 The Mother in sank at in front Sorrow .

oooo My mother fell in the sadness in the sea .
O000D001 | X1X2X3X4X5X60 00O O
O0O0000 1| My X3 X2 X1 are X6 X4 X5 .
O000D02 | X10 X2X3X40 0O 00O O
000000 2| X1 X4 X3 X2 city .
0000003 | X1X2X3X4X50 0O 00 O
OO000D00 3| X4 are X3 X5 up X2 the X1 .
O0D00D004 | X1X2X3X4X5X60 00O O
O00000 4 | X2 X1 X6 X5 at X4 front X3 .

0 2

ooo 00000000000 oODDOOoOooaD
000000 | She OO a high school because of family circumstances .

oooo The Her midyear family a of high in his circumstances .

gooo She midyear of the high in his family circumstances of that time .
OO00000 | X1X2X3X4X5X6X7X8X90 0O 0O
DO00000 | X2 X1 X9 X3 X8 X4 X7 X6 his X5 .

O3

ooo 0000 00o0oDOo0ODDoODDoODDODDODDODDODDODOOOoDaDo
000000 | The fire in the camp fire is burning brightly .

oooo and of fire The Fields is burning juddered red refugee juddered .

ooon The fire is burning red with the Falabella camp fire .
OO000D00 | X1X2X3X4X5X6X7X8X9X10X1100 O
000000 | X9 X4 X5 X6 X8 X11 X10 X3 X7 X1 X2 .

ggi3tiilgobooobooobooobuoobboobboobboobobon
gbboooboobobobooboboboboboobooboboobobobo
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ggbbbuooodgobbboooobobbbuoooobbobboboooobboobod
gogbbobuooobbobuoooobbbduoobobbboooobbbboooobon
OO0000000DODO“Falabella” OO ODOOO0OO0OOOOOOODOO
ggbbobooooobbo2b0buogooobbbuoooonbbooooobon
gbobooboobobuooboobuoobobobooorr2o00bgoooOosln
gobbogboodglbooogbbooobbooobbooobboobboabn
ggbbobuogoobobuoooobbbuoooobbboooobobbouooobon
gogbbobuoooobbbuoooobbbuoooboogao
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0000000000000 000000D00000BLEUOO 0.5%0METEOR OO
0 0.08%0NISTO O 0.1160 000000000000 DODODOOODODOOOOOOOO
00000000000000000000D0O0O0000000OBLEUOO 0.4%0NIST
ggoosbuooooobood

gobbooboooobobbooooooboooobbboooobbbuooooboon
gobobobogoobobooboooobbboooobbboooobobboooonoon
gbgoboobobboboobuoobooboobobboboobooboon
gogno

46



HEN

gogbbobuooobobuooooooobobobuoooobbobooogboobobod
gooobob cooboobooboobooobooboobboobooboboboobobog
goooooboobocoobooboooobooboooboobooooboboboog
ggbobooogoboobooooooboon

47



HREENEN

(1] 000,0000,000,0000,0000,00000,0000,000, “0
oooooOr, 0000, 1997

2] Richard Zens, Franz Josef Och, Hermann Ney “Phrase-based Statistical Machine
Translation”, KI 2002, pp35-56, 2002

3] D0O0O,0000,0000,000,“000000000ODOOOOOOOO7,
ooboood 1s000dn, pp240-243, 2009

4 0000,0000,0000,000,“00000000000007, 00000
001100000, pp.372-375, 2005

[5] Peter F. Brown, Stephen A. Della Pietra, Vincent j. Della Pietra, Robert L. Mer-
cer, “The Mathematics of Statistical Machine Translation: Parameter Estimation”,

Association for Computational Linguistics 1993, pp263-311, 1993

(6] GIZA++, Training of statistical translation models
http://www.fjoch.com/GIZA++ . html

[7] Moses, A Beam Search Decoder for Factored Phrase-Based Statistical Machine
Translation Models

http://www.statmt.org/moses/

[8] Pharaoh, A Beam Search Decoder for Phrase-Based Statistical Machine Translation
Models

http://www.isi.edu/licensed-sw/pharaoh/

9] Franz Josef och, “Minimum Error Rate Training in Statistical Machine Translation”,

Association for Computational Linguistics 2003, pp160-167, 2003

48



[10] BLEU, NIST Open MT Scoring
http://www.itl.nist.gov/iad /894.01 /tests/mt /2008 /scoring.html

[11] NIST, Automatic Evaluation of Machine Translation Quality Using N-gram Co-
Occurrence Statistics

http://www.itl.nist.gov/iad /mig/tests/mt /2008 /scoring.html

[12] METEOR, The METEOR Automatic Machine Translation Evaluation System
http://www-2.cs.cmu.edu/ alavie/METEOR/

[13] chasen, OO0 O 0OOOOO
http://chasen-legacy.sourceforge.jp/

[14] SRILM, The SRI Language Modeling Toolkit
http://www.speech.sri.com/projects/srilm/

[15] Jin’ichi Murakami, Masato Tokuhisa, Satoru Ikehara, “Statistical Machine Trans-
lation using Large J/E Parallel Corpus and Long Phrase Tables”, International
Workshop on Spoken Language Translation 2007, pp.151-155, 2007

[l16) JOO0O,0000,0000,000,0000000000000O0O00O0,00
000001600000 (CO00O0)

49



